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HRT -1/ PART -1

[3]

[A]

1 {qepre g fRreNsme / CHILD DEVELOPMENT & PEDAGOGY
Adsr : =i god] % Gav @7 & [T qae e 4w g

Direction : Answer the following questions by selecting the most appropriate option.

1.

e & o=y H O frefarad d 9@
HIF-AT ATE T B 7

(1) g%gaﬁqmw%waﬁam
|

2) I8 ATEIEH AR aRERT &
ara:fopan a1 uftomy B

(3) gﬁaﬁawaﬁﬁwaﬂﬁ
|

(4) o fafse § 9@ @ SR
STIEY BT 2|

UF aEh N OAMd @ d 9UE Fel
fear & B, U dHe de ST
A & FH B IACT & S AR & AT
ST AIH E PO B9 F R @
g0 2R 51 g8 Aed A e & S
9& Pl T T § 7

(1) amaEei™
(2) S
(3) Ac:feramarel
(4) FE®

frafofaq & & F9-a  Rreorefem
R (HI9T) Gorreashal % faehre A

aeT gAnd & 7

(1) fenfat & ada &1 ¥ fawaw #
el BT |

(2) fEnfEt i Sifgw (@aw) e &
fTe dieTfed &3 |

(3) farrr-eiftrm & dRM foenfdEl @
SAfrE=T H |

@) frefEl & sl o faas
Hafte &g AFfEsS WM H |

Level-1/3101

1.

3.

Which of the following is a significant
fact about the development ?

(1) It does not follow a predictable
pattern.

It is a product of the interaction of
hereditary and environment.

2)

(3) All individuals have similar rates of
development.
(4) Development  proceeds from

specific to general.

The child is raised in isolation from
human contact often show extreme,
long-lasting language deficits that are
rarely entirely overcome by later
exposure to language. This evidence
support to which aspect of language
development ?

(1) Environmental

(2) Biological

(3) Interactionist

(4) Pragmatic

Which of the following strategies of
teaching-learning is  obstacle in
developing creativity ?

(1) Help students to think in flexible

ways.

2

Encourage students to take risk.

Overcontrol students
teaching-learning.

3)

during

4

Guide students to be persistent and
delay gratification.

P.T.O.



[A]

da i vl frefafed & & @e-a

FT  TE B § T B § ?

(1) HBF Ha ® & FaeNds o
B 2

(2) G g I T STEeRr 2

(3) HAMH® UHCIHLT H SAFH B
ufRafdd & ¥ Fqad 2 |

(4) 9% HAT H G UG W@ Hied
wd B

TR B AR AT & {9 & for
frfafeag & & @9-d9 gERa A9
atfepa gt & 7

(1) ATFRATa

(2) WTIRATE

(3) eI

4) PG

frfafeg & & @-A1 SRR
HEHE  (FHoTeE) e & ol
SUYFT Al 787 el § 7

(1) g

(2) 9GS Hardd TE

(3) We di=Et

(4) amaram

= & ATAR, A AT FA B T
fAelld &9 S AMG H SAfdsd GurId
T BWEEY U BHT SAfadE e g,
F FEd 2

(1) #T ST e

(2) 99T ST ATe

(3) 9T Wi =t

(4) 9T oS & (9e)

Level-1/3101

[4]

The nature of emotion correctly depicts

in which of the following statement ?

(1) Some emotions has behavioural
aspect.

(2) Emotions are permanent state of
the organism.

(3) Emotional expressions can not be
modified by learning.

(4) Every emotion is accompanied by a
feeling.

Which of the following parenting styles
is most effective for development of
Children's social competence ?

(1) Authoritarian

(2) Neglectful

(3) Authoritative

(4) Indulgent

Out of the following which tool is not
seems to be appropriate for formative
assessment ?

(1) Quizzes

(2) Criterion Referenced Test

(3) Group discussion

(4) Conversation

According to Chomsky, an innate

capacity to acquire language is the
result of our uniquely human biological
inheritance, is called :

(1) Language Adaptation Degree
(2) Language Acquisition Device
(3) Language Acceptance Desire

(4) Language Acquire Domain



8.

10.

AT H AE & Th @99
AGLIHA acl b Bl R (|E)
el § fQIfer e

(1) %8 91 % Y
(2) EplsT g9 & fog
(3) | a1 & fag

(4) oo ¥ G el &
CARE|

=t ® | SH-a1 g st e
dfHerR® aR1 gfaed @ ?

(1) TR & M
(2) 98 argfonan &l
(3) 1@ &1 1w
(4) g9g &1 FIH

Al srirgar (i) SugE w9 A
qRee &l S Fhdl ©

(1) 38 9/ ¥ &R s o areplos
o 9 B 2

(2) g8 STIR® B AR FH=E  drr
T % 3R @ 2l 2|

(3) ¥ @ § AR |aAes fas (amen)
q B Bl

(4) T8 IMORE & AN qHGE Haar a
2l 21

Level-1/3101

[5]

8.

10.

[A]

The term 'inclusion' means educating a
child with special need in the regular

classroom for :

(1) Some time

(2) Most of the time

(3) Full time

(4) During social activities in the
school

Which of the following is a

supplementary  law  of  learning

propounded by Thorndike ?

(1) Law of Readiness

(2) Law of Multiple Responding
(3) Law of Exercise

(4) Law of Effect

Learning disability can be appropriately

defined as :

(1) It 1is extrinsic and due to

educational & cultural deprivation.

It is intrinsic and due to central

2

nervous system dysfunction.

It is extrinsic and due to emotional

3)

disturbance.

It is intrinsic and due to mental

“)

retardation.

P.T.O.



[A]

11.

12.

13.

14.

Frfifad & & gfx @ A aoh
e e &R 9 dg-gfa s J
787 gl T § 7

(1) TR i
(2) @ia aiaa

(3) Sfadafees e
(4) @NFRNE BT

aEEERl & AR, a8 B (F) o
e Hd & o oA Hed B,
= el Wie olR oo e @l &
e | FHIT H9d 2, Hear ©

(1) FefRE aeaf
(2) T (T a1 gren)
(3) A~ foeprE &
(4) o1 Al

I qgE | frefeiad § § fe-ar
1g afafrd 7@ R 7

(1) STfbet &1 THHHT BT

(2) ufReeqatt @ T B

(3) HAT ST ATHIBIT HEAT

(4) EuE F Ul AR BT

3t ®

(1) St B &9 JMd & 98 &9 AEH
e gam 2 |

(2) @EER, FH AR B T AT
Tl 99E 2|

(3) UOH &9 Y EQeT A " Iy
2

(4) Ffire oy &R 9% difd B

Level-1/3101

[6]

11.

12.

13.

14.

Which one of the following category of
intelligence is not suggested by Howard
Gardner in his multiple intelligence
theory ?

(1) Mathematical Skill

(2) Musical Skill

(3) Interpersonal Skill

(4) Practical Skill

According to Vygotsky, a range of task
too difficult for the child to do alone,

but possible with the help of adults and
more skilled peers, is called :

(1) Guided Participation

(2) Scaffolding

(3) Zone of proximal development

(4) Inter subjectivity

Which of the following step is not
included in problem solving ?

(1) Accumulation of data

(2) Formulating hypothesis

(3) Verification

generalization

and making

(4) Responding to the stimulus

Learning is :

(1) Everything we know is learned.

(2) A relatively permanent influence
on behaviour, knowledge and skill.

(3) Directly
measurable.

observable and

(4) Limited to particular age level.



15.

16.

17.

At & wmie FiEfEE
(Frogaifae) SURM &I a9 &

(1) M & [T as & @59 W ad
ESIl

(2) M & U FEAHRE W
ESill

(3) Afer™ % fT gEdd | qed WA
ESIl

(4) A & fo ergwdl O o &

HEAT! & FIHAN, Th e B A
e & ®I9 8 &R F a8 Ao g Hw
ARTIET  (SalReen)  Wefeg el
A & AR dE & e dd e
@R AR 35 § = @ 8 °

(1) YRR

(2) TERETA

(3) UTEITRRTT

(4) grditTE Afos e

U % S [hEl U fGLiar (qe)
(5 3fEar @ @) § 9= R
g B, a® & aof § ot g e &
@ 2| A FE N F A @l ad
A B

(1) ARl &

(2) aTAERT &

(3) AR AR AR &

(4) URUeF &

Level-1/3101

[7]

15.

16.

17.

[A]

Characteristic of social constructivist

approach of learning is :

(1) Emphasis on child's cognition for
learning.

(2) Emphasis on  processing  of
information for learning.

(3) Emphasis on collaboration with
others for learning.

for

(4) Emphasis on experiences

learning.

According to Kohlberg which level of
moral development of a child shows no
internalization of moral values and the
moral reasoning of the child is
controlled by external rewards and
punishment ?

(1) Preconventional

(2) Conventional

(3) Postconventional

(4) Universal ethical principle

A child who is high and low in a

characteristic (such as anxiety or
sociability) will remain so at later ages.
This statement stresses on the
importance of :

(1) Hereditary

(2) Environment

(3) Hereditary and environment

(4) Maturation

P.T.O.



[A]

18. MHGag ¥ ¥ @dH-a1 &9 T &

19.

20.

fwa & 77T 2 ?

(1) o & i iR o uge
gl

(2) BF T THR B GEAT URAT
(ofspam) B 1

(3) fordM d@TAE OiRAT F HY=E
(@) 21

(4) I R 9T erEEfeeT 2 |

frfafeg & & @&F-a1 99 o @
Ted T H Al B Modred BT & 7

(1) o (L) @ wfeeis o der &
2

(2) IAH (8IS & BIE) Mg |E
T e 7

(3) el 9§ 9™ W & foe fohaen
79 YA T 7

(4) I (SiE), Fadem (Fe@) ® faam
2T ¥ Fe B 4 aeed § 7

frefafgd & & SF-81 aaeie e
(1) = & fmia Zeer 4@
eafad 7ef e 7

(1) g
(2) M= (M)
(3) 3%

(4) Fad (FAR)

Level-1/3101

[8]

18.

19.

20.

Which of the following statement is
incorrect about thinking ?
(I) Thinking

language.

uses  images  and

(2) Thinking is a form of information

processing.

(3) Thinking is the set of cognitive

process.

(4) Thinking and language are
unrelated.

Which of the following question

encourages a deep style of thinking ?
() What is the inverse of one half ?
2
3)

What is the lowest prime number ?

How much milk would you use to

make half of the tea ?

(4) What does it mean to say that

addition is the opposite to

subtraction ?

Which of the following behavioural
characteristic is not related to the

motivated behaviour of the

individual ?

(1) Energized
(2) Directed
(3) Separated

(4) Sustained



21.

22,

23.

24.

SRR C I C I I B CE R
Frfafad & & SiF-a1 #09 To7 § 7

(1) 78 [qemd e geaie & |

(2) za9 foenfEt & 99 e afufad
2 E

(3) =A% FRFEE geE AT T
g

(4) =% U oliweniie iR eMivenie
2T gfafeEr s@T @ S E )

™ W UEad SR JETRh

JeaH & B ¢

(1) 99& gHE™ e

(2) s sTfeEH

(3) =&Y ITEH

(4) IS ST

frefafeg & @ @9-d1 o=

ST T IR 7T 2 ?

(1) e

(2) ISR B SAEFRA

(3) STTHET &Y

4) ygsiEr

STfeRmeRatetl 1 g faftanet @t

yfd & fou =i § & SF-a =)

(1) areta &R ?

(1) AT ® Faarstl & T8l oTha
HEAT

(2) SHRIE AL &
(3) AT oMfde &R & 9ea &

(4) fafsre fgamelt & gea™ &

Level-1/3101

[9]

21.

22,

23.

24.

[A]

Which of the following statement is
incorrect about the continuous and
comprehensive evaluation ?

(1) It is school based evaluation.

(2) Itincludes all aspects of students.

(3) Diagnostic evaluation is not
included in it.

(4) Both formal and  informal

techniques are used for it.

The highest level of learning in the
hierarchy proposed by Gagne is :

(1) Problem Solving Learning

(2) Principle Learning

(3) Concept Learning

(4) Skill Learning

Out of the following which is not the
example of intrinsic motivation ?

(1) Anxiety

(2) Need for achievement

(3) Level of aspiration

(4) Praise

To meet the individual differences of

learners which of the following step is
not required ?

(1) Individual's
accurately

abilities assessed

(2) Individualisation of instruction
(3)

Indentification of socio-economic
status

“4)

Identification of special talents

P.T.O.



[A]

25.

26.

27.

e & wr (39) o9 6 9,
frefoieg & @ $F-di gk 4 fasiaa
2 E?

(1) gemepar &

(2) STl 9

(3) FEfsE
(4) T AR b (T &

‘e i GaE (T) il TR § AR
IE ST (STIEE) 9 ST & 7 5
FaRgd T W S & AYER
GEIRIK AN CCI M R A L | eI
g

(1) He&l 9 Hiel

(2) E-FRaeT |

(3) o FRamH Hr

(4) STvy=ie fhamcHs i

frafafas & & @F-& fwa dfa

s B T T 7

(1) SiEe %l AERYT  AGEFHAA Fl
ST B S |

(2) STRYA 3R AEHHE AER F&
FHIT |

(3) W - TEEmel @ HEe

(@) |
(4) SHH @WHGE W § fae™ &
T 9 dfed @ |

Level-1/3101

[10]

25.

26.

27.

The domains of development such as

physical,  cognitive, social  and
emotional are developed in which one

of the following process ?
(1) Distinctly

(2) Partially

(3) Randomly

(4) Integrated and holistically

"Reasoning of child is not logical and is
based on intuition rather than on
systematic logic." According to Piaget
this stage of cognitive development is

called :

(I) Sensory motor period

(2) Preoperations period

(3) Concrete operations period

(4) Formal operations period

Which of the following is not a
characteristic of disadvantaged child ?
(1) Suffers

necessities of life.

inadequacy of basic

(2) Provide the basic and universal
right.

(3) Risk of future psycho-educational
problems.

(4) Denied the opportunity to grow

normally at his/her own rate.



28. |Ia (W & w4 (FR) F== @

29.

30.

yadie i o

(1) gfge M

(2) Fhe oo

(3) 2o Tdo dMEEE

(4) Sto dio Rrawid
ATl & Had AR @IE g

3 fowg ¥ fr=fafeg & @ f9-a1 &

ger e ?

(1) Hfd (JrTemen) oTha Sl
3T T B |

(2) HHfeId SMee SIS STha
eI 2 |

(3) Wl AT TSI U &
AR 2 2

(4) Hepferd amepe faenfia & wfe-zat
% eM W 99 31 B |

frefafeg & @ oy &t B
gl Sra-wiad fen woenaRa 787
g7

(1) q9&En SEmRd

(2) F= (@)

3) FeRe s (@)
(4) w&sH

[11]

28.

29.

30.

[A]

Who was of Multiple
intelligence (Frames of Mind) theory ?

propounder

() Howard Gardner
(2) Alfred Binet
(3) E. L. Thorndike
(4) J.P. Guilford

Which of the following statement is

correct about the continuous and

comprehensive evaluation of learner ?

() Summative assessment is called

formal assessment.

Summative assessment is called

2)

informal assessment.

3)

Summative assessment is during

the instructional procedure.

(4) Summative assessment emphasise
on diagnosing difficulties of
students.

Which one of the following situation of
learning is not based on child centered

education ?

(1) Problem based
(2) Discovery

(3) Guided discovery

(4) Demonstration

Level-1/3101

P.T.O.
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HET- 11/ PART - 1I

[12]

A (R= ©d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &1 / HINDI ]

@1 : =i god] % e @7 @ [T qa8 SfEd [dweq giae

31.

32.

33.

34.

fope g1 | ‘o7’ SRR T AT 787 gl
g7

(1) omETey

(2) 3TEE

(3) faE

(4) ead

=1 4 4§ fpd 9oy § Afawrl 9 787
g7

(1) Heega

(2) Fa™

(3) Tg=EES

(4) ToRaT-fasreoT

‘SAAT A A gddl @ AT B |
Gifhd Iz &l G5He SR HIT -

(1) e G

(2) A= Gl

(3) Aearas Hel

(4) STicars sl

T T i BT FAET AT
(1) g
(2) T
(3) HAE
(4) RrRE

Level-1/3101

35.

36.

37.

‘Th I 1 get o B
(1) g8 o aref

(2) g9 a9 arel

(3) g1
(4) Read o 1 g=gh

fgaeer |4 ST AEaeE G e 78
R

(1) SATHIFT

(2) qg=a

(3) e

(4) 9™

LT 11 2 B T M | e AR R A
@ifthd T&l | fG9er @ 9% R HY
(1) wHrarEe Mivad deamdEes G |

(2) Yoliehegsh Hive deamr=e &L |

(3) @geEaEs  Hived
fepgreroT |

(4) HAGRErED RIS TGS
fQTeT |

LS LEIClEET



38. ¥ THEN H AW & & B Q| @itk

U 1 FAAHHT JaRy
(1) Geeares

(2) JoudarE®

(3) fotar=en

(4) Mg

39. w3t § ofger foebed g

(1) guawn
(2) G
(3) HT:HEA
(4) e

40. UFHHE pAT ATl AT ©
(1) wef Jgeam™ = st fore |
(2) I BH i A |
(3) & T WE F T AT
(4) " foamtt & o= fomar |

4. ggE fadim g 2
(1) HeauoT — ferseioror
(2) Sl — ALl
(3) Hfd — Fera
4) Tdw — oA

42. 7ol @i fese A faeed g

(1) T& +23 = Igga
) T + 3R = TR
(3) T + T = T

(4) Mg + I = R

[13]

43.

44,

45.

[A]
Frestia’ IE § 7919
(1) TFhHE
(2) dged
(3) FHIH
4) sEdife
A REw guET W ORReEE 2
TGifhd Ig § 999 ¥ ¢
(1) 929 & ol g
(2) FHIEF
(3) wEdife

4 &=

= o 9 g foee d STucas uad
H AT I © °

(1) I
(2) et
(3) R
(4) AMEH

Level-1/3101

P.T.O.
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[14]

[ 335 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Fill in the blank with appropriate modal

from the options given below :

....... you mind opening the window ?
(1) Can

(2) Could

(3) Would

(4) May

Write the antonym of the word

'Praise’ :

(1) Criticize
(2) Worship
(3) Favour

(4) Ignore

Choose the correct preposition from the

given options in the following

sentence :

There is a label ............... the bottle.
(1) on

(2) in

(3) at

(4) into

Level-1/3101

49.

50.

51.

Which one of these options has the
words arranged in proper order to form
a correct sentence ?

(1) Lies the / wears a / uneasy / head
that / crown.

(2) Uneasy / lies the / head / that wears

/ a crown.

(3) A crown / lies the / uneasy / head /
that wears.

(4) Head / uneasy / a crown / that
wears / lies the.

Identify the conjuction in the following
sentence from the options given below :

Answer the first question before you

proceed further.
(1) First

(2) Before

(3) Further

(4) Proceed

Choose the correct option for the
underlined phrase :

The doctor told her to carry on with

the treatment.
(1) Continue
(2) Delay
(3) Stop

(4) Postpone



52.

53.

54.

Fill in the blank space with correct

adjective in the following sentence :

He didn't make ................ mistakes.
(1) Many
(2) Good
(3) Much

(4) Most

Fill in the blank space with correct

adverb in the following sentence :

The soldiers fought ................ .
(1) Partly

(2) Luckily

(3) Bravely

(4) Clearly

Fill in the blank with the correct

option :

The milk .......
(1) has turned
(2) will be turning
(3) had turn

(4) 1isturn

Level-1/3101

[15]

55.

56.

57.

[A]

Identify the word with a different Sound
represented by the underlined letter at
the initial level in one of the following

words :

(1) Chest
(2) Cheap
(3) Catch

(4) Chin

What are the positive and comparative

degrees of the adjective "Best" ?
(1) Good, Better

(2) Ok, Good

(3) Better, Good

(4) Best, Best

Choose the correct form of the verb

"Read" in the following sentence :

a play by Bernard

(1) had reading
(2) am reading
(3) are reading

(4) hasread

P.T.O.



[A]

58.

59.

Choose the correct past tense of the

verb "Bring" :
(1) Brought
(2) Buy

(3) Buying

(4) Broughted

Fill in the blank with the correct

option :

The plane ....... from Delhi at 3.00
clock tomorrow afternoon.

(1) left

(2) will have left

(3) leaves

(4) leaving

[16]

60. Fill in the blank space with correct

article in the following sentence :

My brother is in ................ Indian

army.
(1) a

(2) an
(3) the

(4) zero article

Level-1/3101



[17]

[A]

HET -/ PART -l
qHE 31991 / GENERAL STUDIES

[ AT qRgdT, dliche AT ol | 319 Ud S1FsT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

A@sr : =i god] % Gav @7 & [T qae S [ g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Uel &1 wh Ui H, Th U3 iR H e
AR A 11T ®F W T AR e R A
163 &9 W B @ U § g e Ue
g7

(1) 25 2) 26

3) 27 4) 28

I a, b A 2 % 2T A b, ¢ T 10
AeE B, M a+ b+ c = 130 &, a

(b+c)—a€b'f1:|17fi€r :
(1) 28 (2) 32

3) 34 4) 44

666 +6+3 & AN T ¢
(1) 37
2) 111
(3) 333

4) 38

Level-1/3101

61.

62.

63.

In a row of trees, a tree is at 11th place
in the row from the left and 16th place
from the right. How many trees are

there in this row ?

(1) 25 2) 26

3) 27 4) 28

If a is greater than b by 2 and b is
greater than ¢ by 10 and a + b + ¢ =

130, then value of (b+c¢)—ais:
(1) 28 (2) 32

3) 34 4) 44

The value of 666 + 6+ 3is equal to :

(1) 37

2) 111

(3) 333

4) 38

P.T.O.



[A] [18]

x 196 .
64. I i:&/ A 64. If1—=—, then value of Ixlis :
16 x 6 x

1) 28 (1) 28

Q) 36 (2) 36

3) 52 (3) 52

@) 56 @) 56
65. = 291 § 777 Ug Pl A HIA ¢ 65. Find the wrong term in the following

series :
445,221, 109, 46, 25, 11, 4

445,221, 109, 46, 25, 11, 4

(1) 221 (1) 221
(2) 46 (2) 46
(3) 109 (3) 109
4) 25 4) 25
66. =1 ¥ & FF-8 = T8 81 ® 7 66. Which of the following fraction is the
smallest ?
13
1 = 13
16 LS}
D 16
17
2 — 17
21 17
@ 35
15
3) — 15
19 3 5
7
4 - 7
8 @ 3

Level-1/3101



67.

68.

69.

70.

A TH qEEE FYST B YN 20% FA
F & S B, A 3 B9 & aeea d

fepae 4T 81 SRl ?

1) 8%

) 16%

(3) 36%

4) 20%

ofi T ST 98 1 o]
0, 6, 24, 60, 120, ?

(1) 180 (2) 210

(3) 216 (4) 240

X' AR Y 9% E, B, A’ @ q%ﬁq%w ‘Al
Y' & uelt 21OB, X ®@ BCALY
aefeg B 7

(1) 9t

(2) St

(3) E

(4) e

afe 'PURE' %1 %< 9= ‘QVQD’ @

'COPE' # %g 91 'DPOD' feran o1 &,
@ 'WHEN' & g 9= ¢ :

(1) XIFO
(2) XDIM
(3) XIDM

(4) XIMD

Level-1/3101

[19]

67.

68.

69.

70.

[A]

If the side of an equilateral triangle is
decreased by 20%, then its area is

decreased by :
(1) 8%
(2) 16%
(3) 36%

@ 20%
Find the next term of the series :

0, 6, 24, 60, 120, ?

(1) 180 (2) 210
(3) 216 4) 240
X" and 'Y' are brothers. 'B' is the

daughter of 'A". 'A' is wife of 'Y'. What
is the relation of 'B'to 'X' ?

(1) Sister-in-Law
(2) Niece

(3) Daughter
(4) Sister

In a certain code, 'PURE' is written as
‘QVQD’ and 'COPE' is written as
'DPOD’, then '"WHEN' is written as :

(1) XIFO
(2) XDIM
(3) XIDM

(4) XIMD

P.T.O.



[A]

71.

72.

73.

74.

=1 4 @ diF-a1 @@ e v
3 4 8
D 5<7<5

(2) é<§<§
7 9 5

3 282
5 9 7

(4) é<§<§
7 5 9

SHT S IO
(1) 34
2) T
3) 9
4) i

e et #, A, C ¥ SR W= D & &
T S 8, B, D A I, fh E § A
W A B, W I d gEd SRl W
HI ST & 7

(1) C (2) B
3) D 4) E
RIS 2:x+;1 g, @ x @ AW
g 1+ 1
3+
4
18 21
(1 7 (2) e
16 20
(3) Tl 4) Il

Level-1/3101

[20]

71.

72.

73.

74.

Which of the following is correct ?
1 228
5 7 9

(2) é<§<§
7 9 5

3 8 4
3) =<=—<=
©) 5 9 7

(4) é<§<§
7 5 9

Find the odd one :
(1) Mercury

(2) Venus

(3) Sun

(4) Saturn

In five friends, A scores more run than
C but less than D, B scores more than D
but less than E. Who the

maximum runs ?

SCOrecs

() C 2) B
3) D 4) E
If 2=x+ , then value of x
1S : 1+—l
3+—
4
18 21
1) — 2) =—
(D T () T
16 20
3) — 4) —
) 17 @) 17



75.

76.

77.

78.

TH el 180 fRHES @ M 9 =«
W g, o IgH T He/Ades § e
g7

(1) 50 Hey/AETe
(2) 40 HITYHE"S
(3) 30 HieyAETS
(4) 25 HITyHE"S

e JI8x14xx =848, A x TEX ¥ :

(1) 22 2) 24
3) 28 4) 32

J0.0025 ++/225 TER B :

(1) 1.55

) 1.50

3) 0.155

4) 155

A 9 A F I W Y 8 AR

W Tged & fau & 9] 9 gEd s
A R afed gedi 21 AR s @
TEad @ g4 R @ ol B, @1 MW
qe e fasm &l oY o 7

(1) 3@
(2) =feror

3) w
(4) Ui=H

Level-1/3101

75.

76.

77.

78.

[A]

A train is moving with a speed of
180 km/hr. It's speed in metre per

second is :
(1) 50 m/sec
(2) 40 m/sec
(3) 30 m/sec

4) 25 m/sec

If \J18x14xx =84, then x isequal to:

(1) 22 (2) 24

(3) 28 4) 32

V0.0025 ++/2.25 is equal to :

(1) 1.55

(2) 1.50

(3) 0.155

4) 15.5

School bus picks A from his house and
takes two left turns and then one right
turn to reach his school. If the bus is
facing East, while reaching the school,
which direction was the bus facing at

his home ?
(1) North

(2) South
(3) East
(4) West

P.T.O.



[A]

79.

80.

81.

" O (5] -2 A m

(1 1
(2) 2
(3) 4
“4) 3

I fopell |ibias @™T § "pul ta nop" &
atef "fruit is good", "nop ko tir" & T
"tree is tall" TAT "pul ho sop" & HY
"eat good food" g, @ fruit 915 F I
T H a7 BeT ¢

(1) pul
(2) ho
(3) nop

@) ta

uMigd § 1857 & N @l SdT @A
qr ?

(1) AW 3Tl FHaex
(2) STHET T

(3) fomrRd orclt
4) "gEN

Level-1/3101

79.

80.

81.

X x—1
If (gj . (ij :Z/ then the value
4 27 3

of xis :

(1 1
) 2
(3) 4
4 3

In a certain code language, "pul ta nop"

means "fruit is good", "nop ko tir"

means "tree is tall" and "pul ho sop"
means "eat good food". Which of the
following does mean fruit in that

language ?

(1) pul

(2) ho

(3) nop

4) ta

Who was the leader of the revolution of
1857 in Panipat ?

(1) Imam Ali Kalander

(2) Akbar Ali

(3) Bisarat Ali

(4) Sadruddin



82.

83.

84.

85.

86.

Jaegell o7 H fhee a=sid AR
g7
(1) =
(3) d

Q) @
4) I

38 e @ fuied @i s qed
gEY Hel gRART & I8 ¢ ¢

(1) TEIM, HEEE AR A-bT

(2) TEIM, TEd AR TG

(3) TEIM, HIRERE R TG

(4) TEIM, AMEY AR HEEE

2001 § 2011 & H&H BRAOT &I DA
SHeE gfa ©
(1) 28.43%
(3) 44.59%

(2) 22.62%
4) 19.9%

NEF 07 P T o
(1) Eh
(2) AR
(3) Fohr
(4) e

eREm e & ®q F BN AW S
g7

(1) &Y 8¢ ™

(2) T AT T

(3) do w&l YW

(4) T AT

Level-1/3101

[23]

82.

83.

84.

85.

86.

[A]

How many wildlife sanctuaries are there
in Panchkula district ?

(1) One (2) Two

(3) Three (4) Four
Identify the group, of which all the

cities are associated with Metro
project :

(1) Gurugram, Faridabad & Sonipat
(2) Gurugram, Palawal & Bahadurgarh
(3) Gurugram, Faridabad &
Bahadurgarh

(4) Gurugram, Manesar & Faridabad

The decadal population growth of
Haryana for the period of 2001-2011 is :

(1) 28.43% (2) 22.62%
(3) 44.59% 4) 19.9%

The capital of Yaudhey Gana was :
(1) Rohtak

(2) Hisar

(3) Kurukshetra

(4) Ambala

Who is known as Haryana Kesari ?

(1) Sir Chhotu Ram
(2) Lala Lajpat Rai
(3) Pt. Neki Ram
(4) Lala Murlidhar

P.T.O.



[A] [24]

87. WERIUM ¥dd drEH! fasafqens stafed 87. Maharana Pratap Horticultural
g University is situated in :
(1) el B J (1) Ambala District
(2) 99 o § (2) Sonipat District
(3) THIH fora | (3) Gurugram District
(4) FEE B § (4) Karnal District

88. ISl AUS + UREE @d - 2018 § @Ol 88. Neeraj Chopra won a Gold medal at

IS S| g€ e 99 9 §9F & ¢ Asian Games — 2018. He is associated
with which sports ?
(1) Sigfer o (1) Javelin Throw
(2) aa | (2) Table Tennis
(3) dram (3) Archery
(4) ST (4) Shooting
89. fffad & & dM-ar gﬁﬁm 7& 77 89. Which of the following is not correctly
matched ?
(1) 93@9 A — BUEEE (1) Badkhal Lake — Faridabad
) @Fﬁﬁg’{ T — TeIH (2) Khalilpur Lake — Gurugram
(3) e oA — TR (3) Chandlai Lake — Jhajjar
(4) FT ;A — B (4) Karan Lake — Karnal
90. =REmT ¥ fhew gematE SuEre § 7 90. How many administrative sub-divisions
are there in Haryana ?
(1) 73 (1) 73
2) 93 2) 93
(3) 49 (3) 49
(4) 62 4) 62

Level-1/3101



[25]

[A]

9 - IV / PART = IV
T / MATHEMATICS

R@sr : =i god] % Gae @7 & [ qa8 ST ey gl

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

41 Bo & TR & 50 TSH T TS(BAl
% W dlel TN o dh & 90 Ud
qYT TSH H 65 U4 U g ASH wd
HIfoTT -

(1) 18:13 (2) 17:8

(3) 13 :8 4) 17:13

T & [dbdl 5 6o & 6 AW & X 9
FHA 600 MM BT & FAT 6 Fo & 5
M H T T II AT B A@H T B

i s1d Fifeg ¢
(1) @9 44% (2) B 44%

(3) @¥ 22% 4) B 22%

91.

92.

A sum of Rs. 41 was divided among 50
boys and girls. Each boy gets 90 paise
and a girl 65 paise. Find the ratio of

number of boys and girls :

(1) 18:13 (2) 17:8

(3) 13 :8 4) 17:13

A fruit seller bought 600 mangoes at 6
for Rs. 5 and sold at 5 for Rs. 6. Find

the profit or loss percentage :

(1) Profit 44%  (2) Loss 44%

(3) Profit 22%  (4) Loss 22%

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101

P.T.O.



[A]

93.

94.

A TI B ©h H H 10 RSl F ol wd
21 B da C 38 & & 15 fA F o
FA &1 C T A I FA H 20 B A
T FA E | I BE HB IR C, e
fe=tt & ot & ?

(1) 120 %A
(2) 118%A
(3) 115%=
4) 1107F

fpEll ST & & @ X a8 @
F &= 7.50 Fo Ui HiEX H T G
600 o BT 2| 3% ZHE g 24 Hio
g, d SH% AlRE g &R

(1) 16¥io (2) 16.8 Hio

(3) 2040 (4) 20.8 Hio

[26]

93.

94.

A and B can do a work in 10 days. B
and C can do the same work in 15 days.
C and A can complete the same work in
20 days. In how many days can C alone

complete the work ?

(1) 120 days

(2) 118 days

(3) 115 days

(4) 110 days

The cost of fencing a rectangular field
at Rs. 7.50 per metre is Rs. 600. If its
length is 24 m, find its breadth :

(1) 16m (2) 16.8m

(3) 20m (4) 20.8m

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101



95.

96.

97.

212°F %I Qfcaad @&ha | iy

(1) 424°C (2) 106°C

(3) 112°C (4) 100°C

R Bemr 7 W9 @ 24 A9 SOE A
9% (MR dfed) F T & [C AGTF
e B TEET P A% FA BT

(1) 625 ad”

(2) 690 T

(3) 704 i

@) 729

Frefafad 1 JerETs FHIR

(" = 6xy +9y) =25

1) (x=5) (x+5)

(2) x=y=5(x-y+5)
(3) (x+3y+5) (x=3y—5)

(4 (x=3y-5)(x-3y+5)

[27]

95.

96.

97.

[A]

Write 212°F in Celsius scale :
(1) 424°C (2) 106°C
(3) 112°C (4) 100°C

Find the area of the iron sheet required
to prepare a cone (with base) is 24 cm
height with base radius 7 cm :

(1) 625cm”

(2) 690cm”

(3) 704 cm2

“ 729 cm2

Factorize the following :
(" = 6xy +9y°) = 25

1) (x=5) (x+5)

(2) x=y=5)(x—-y+5)
(3) (x+3y+5) (x—3y-5)

4 x-3y-5)(x-3y+5)

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101

P.T.O.



[A]

98. fordll firer arg & A9 QT ST H S

99.

5:3% 3 fre &g # A9 & AR 30.5
Im B, @ By oag § SE @ O9R F |

HIfTT :

(1) 20.59M

(2) 20.8 I

(3) 15.8 9

(4) 1839

T e J, A B B # 10% A 3%
g B € q B & C ¥ 15% e

3% O B 21 A B C § R aee
qfcrerd ofh oT gy ?

(1) 25%

) 26%%

3) 28%%

) 28%%

[28]

98. The ratio of Copper and Zinc in an alloy

99.

is 5 : 3. If the weight of Copper in the
alloy is 30.5 grams, then find the weight
of Zinc in the alloy :

(1) 205¢
(2) 208 g
(3) 158¢
4) 183 ¢
In an examination, A gets 10% more
marks than B and B gets 15% more

marks than C. How much percent more
does A get than C ?

(1) 25%

) 26%%

3) 28%%

4) 28%%

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101



[29] [A]

100. x & HA9 9 @Y, IR 100. Find the value of x,  if
5%73.32%78 205 5¥73.32%=8 705
1 3 1 3
2 5 2) 5
(3) 6 (3) 6
“ 7 4) 7

101. 10 a4 FITEHES g 8 iﬁ%‘l’ﬁg CIS 101. Two cubes of sizes 4 cm and 6 cm are
T, 4 QHI T1 6 GHI SR ard &l melted to form a cuboid of length 10 cm
R I | e 2 B | =< B R and breadth 8 cm. What is the height of
ST T g1 & HA S BT the cuboid so formed ?
(1) 4.59% (1) 4.5cm
(2) 3.8 94 (2) 3.8cm
(3) 3.59H (3) 3.5cm
(4) 2.59H (4) 2.5cm

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101 P.T.O.



[A]

102. I «
qm b

FIRTT -

ey
2)
3)
“)

103.

a=

T b AAT TRAT FEW E, @ a
® AW e after & fo sma

J3-1

J§+1:a+bJ§

a=-1,b=2

1,b=2

[30]

102.

103.

If both a and b are rational numbers,
find the values of a and b in the
following equalities :

V3-1
J3+1

a=-1,b=2

=a+by3

)
2
3)
“)

a=1,b=2

a=2,b=-1

a=-2,b=1

Find the value of :

Level-1/3101

I 8 % T SB/SPACE FOR ROUGH WORK



[31] [A]

104. 9N 3T ST : 104. Find the value of :
0.25 + 32 0.25 + 32
(1) 0.078125 (1) 0.078125
(2) 0.78 (2) 0.78
(3) 0.72185 (3) 0.72185
(4) 0.0078125 (4) 0.0078125
105. /36.1x102.4 & HH G HO 105. Find the value of ,/36.1x102.4
(1) 58.8 (1) 58.8
(2) 60.8 (2) 60.8
(3) 60.2 (3) 60.2
(4) 62.2 4) 62.2

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101 P.T.O.



[A]

106. 3le x+l=6,?ﬁ 2+t @ e s

107.

X x2

HIoT -
(1) 36
2) 30
3) 34
@) 32
AT & Rl @ oy, A A o @
& T 31 12 o S, e @ e A

&Y, H B A ® G B TEL B |
AT %l aH A S I

(1) 3699
() 2479
(3) 1299

(4) 189

[32]

106.

107.

If x+l=6, then find x2+i2:
X X

(1) 36
(2) 30
(3) 34
4) 32
Mona's father is thrice as old as Mona.
After 12 years, his age will be twice that

of his daughter. Find the present age of

Mona :

(1) 36 years
(2) 24 years
3) 12 years

(4) 18 years

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101



[33] [A]

108. ©F FR H TEE, IqH ARE B 108. Length of a room is 1% times its
I%Tﬂ 2| A SEH HEE 3.3 Woad breadth. If its height be 3.3 m and
3 3 .
123 % lfﬁ3 R AT § volume be 123Z m , find the length of
T 2R - the room :
1) 75
(1) 7.5 () 75m
) 72 2) 7.2m
(3) 827 (3) 82m
4) 844 4) 84m
109. I x=1 TN y=2, FHE 109. If x=1, y=2 is a solution of the
a’x+ay=3 F & &, A a F AW equation a’x+ay=3, then find the
SId i values of a :
(1) a=1,-3 (1) a=1,-3
2) a=1,2 2) a=1,2
(3) a=-3,2 3) a=-3,2
4) a=-1,-2 4 a=-1,-2

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101 P.T.O.



[A]

110. U THEGYS & fabon 0 19 16 |

111.

qem 30 FH 2| TEH G A I
(1) 63.5H
(2) 653
(3) 68 T

(4) 70.2 a+

140 Hlo T aTel AR & 36 STEH,
21 G & &1 @ 21 3 d@e @
50 Hlo TEE dml dER @H 15 STEH
fpae fa=t & &= o ?

(1) 20fS
(2) 22fF
(3) 22.51&H

4) 18fH

[34]

110. The diagonals of a rhombus measure

111.

16 cm and 30 cm. Find its perimeter :
(1) 63.5cm

(2) 65cm

(3) 68 cm

4) 70.2 cm

36 men can build a wall 140 m long in
21 days, in how many days would 15
men be able to construct a similar wall

50 m long ?
(1) 20 days
(2) 22 days
(3) 22.5 days

(4) 18 days

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101



[35] [A]

112, 527, 1020 dIr 11594 %1 HCF 19 112. Find the HCF of 527, 1020 and 11594 :
[ :

1) 13 1) 13
(2) 14 (2) 14
(3) 17 (3) 17
4) 19 4) 19

113. T IBM 7 = Elﬁ'o'&ﬁ %, S oEs: 15, 113. In a shop, there are three clocks which
20 91 30 BT & FAIT W FHHR Hl chime at intervals of 15, 20 and 30
21y I afgEr gs= 10 T TH A" minutes respectively. They all chime
BT HL 2 | g a At fhe aHa together at 10 a. m. At what time will
X TF A HHR BN 7 they all chime together again ?
(1) gI& 10: 459 (1) 10:45 a.m.
(2) & 10: 50 9 (2) 10:50a. m.
(3) g 11: 159 (3) 11:15a. m.
4) g 1199 @) 1l1a m.

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101 P.T.O.



[A]

114.

115.

UF THER 18 Fo U &9 & & A
ifae Eded & ad 3% 20% @ B X
q 9= 3@ &) U @ feE g S
HIoT -

(1) 1.50%0
2) 1.80%0
(3) 2.50 %o

4) 2.60 %0

13 gu¢ | fe 30 9Us H 6 & 9N oA
W YT 2Bl ®

() 2 gu¢ | e 10 9%vs
(2) 2 9u¢ 15 e 10 9%vs
(3) 2 gv¢ 10 e 15 9%vs

(4) 2 992 12 fiFe 20 9%vs

[36]

114.

115.

A shopkeeper bought some pencils at

Rs. 18 a dozen and sold them at a

profit of 20%. Find the selling price per

pencil :

(1) Rs.1.50

(2) Rs. 1.80

(3) Rs.2.50

4) Rs.2.60

Divide 13 hours 1 minute 30 seconds

by 6 :

(1) 2 hours 1 minute 10 seconds

(2) 2 hours 15 minutes 10 seconds

(3) 2 hours 10 minutes 15 seconds

(4) 2 hours 12 minutes 20 seconds

I 8 % T SB/SPACE FOR ROUGH WORK
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116.

117.

HHaTg B9 1 &S B ©
V3 2 o g

4
ZaZEFTsEb‘I'%
V3 a? i zE

ey

2)
3)

) ?a%ﬁ ER2H

T A A el Ao, A ges 1d
H I 990 Fo 2| Th UQ & dEH W
S8 10% F & AT B, qA O 0 @l
S W IE 10% H BT BRM Sl 3™
98 H U Hl bl dfSr wd A
Bl &g 7

(1) 1% =&+
(2) 1% 9
(3) 2% &+

4) 2% =4

[37]

116.

117.

[A]

The area of an equilateral triangle is :

RER

a” sq. units

ey

242 $q. units

2)

3) \/gaz sqg. units

@ gcﬁ sg. units

Raju sold two fans for Rs. 990 each. On
selling one fan, he had a gain of 10%
and on selling other fan, he had a loss of
10%. Find his gain or loss percent in the

whole transaction :

(1) 1% loss
(2) 1% gain
(3) 2% loss

4) 2% gain

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101
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[A]

118.

119.

120.

120 Hio @& o9 @ fq 50 fRHr o
geT %1 29 29 @ 600 Ho T TehH
H oA H fohe HE @ 7

(1) 50.5T®F%E  (2) 51.84 9FTS

(3) 52.758FS (4) 58 QFTS
30, 17, 43, 39, 18, 40 @I T sMd

(1) 345 2) 30

(3) 39 4) 43

12 Hio AR T 3.5 o B ar g
JAHR dF B TN B U R
BT Al €T 1 TGE bl AT

Bt ?
(1) 305 & 2) 285§

(3) 292.7 h° 4) 302.5 0

[38]

118.

119.

120.

The speed of a 120 m long train is 50
km per hour. How much time will it

take to pass a platform 600 m long ?
(1) 50.5seconds (2) 51.84 seconds

(3) 52.75 seconds (4) 58 seconds

Find the median of 30, 17, 43, 39,
18, 40 :

(1) 34.5 2) 30

3) 39 4) 43
How much area of metal sheet is
required to make an open cylindrical

tank of radius 3.5 m and height of 12 m ?

(1) 305 m” (2) 285 m”

(3) 2927 m>  (4) 3025m’

I 8 % T SB/SPACE FOR ROUGH WORK

Level-1/3101



[39] [A]
HET-V/PART -V
TgiaXeT 3199+ / ENVIRONMENTAL STUDIES

@sr : =i go7] % Gav @7 & [T @98 SfEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

121, Sy qRadd THRM @ ST B arar 121. India's first State to release a Climate
AT HT FH TF 8 ¢ Change Action plan is :
(1) 3IqUdEvs (2) B (1) Uttarakhand (2) Haryana
(3) fewit @) & (3) Delhi (4) Kerala

122. FEME T & I & q9Y, el H, 122. Which of the following is not produced
frfafad & & &9 Soifed 7&f e in soil during decomposition of organic
g7 matter ?
() S (1) Water
(2) Y& T (2) Nutrients
(3) FIEH-SE-HFAES (3) Carbon-di-oxide
(4) SRS (4) Oxygen

123. 9Rd ®, dd9® eXEY ©A S TH 9 123. The World Heritage site of India
s g # oaRyd ® - located in more than one State is :
M Il AT oltad 9T U (1) Valley of Flowers National Park
(2) 9RT B T8 @d (2) Mountain Railways of India
(3) gewd BEESRIE (3) Sundarban National Park
(4) FIAH-RHA A (4) Kalka-Shimla Railway

124, TG & Herdeyd Feiciad § 9 6 124. The level of which of the following
El'l'ﬂ'q?ﬁﬁ'q e ded W o ﬂ'@ gaseous component increases in the
e B ? atmosphere because of deforestation ?
(1) Pre-3T3-fiEe (1) Carbon-di-oxide
(2) A (2) Ozone
3) Ad-ar™ (3) Water Vapour
(4) TR (4) Oxygen

Level-1/3101 P.T.O.



[A]

125.

126.

127.

128.

Friigg & @ uh uiRRdios & &
S e & AT

(1) TR

(2) wa%

(3) G4 N YT

(4) FaI

JRARE Holl AT BT Th IAEXT 2

(1) sart™ Fei

(2) A Sl

(3) 9R ot

(4) = F

?jr%ﬁqﬁ 4§ FIA-A & PEER 78
(1) AreH 2) fr=

(3) & (4) Fga

T H, S dHSl & AYY d8d d U
el 9 X' Iafed Bl 21 9 3,
g I W X W § SuRed e
'Y' & G & o © ol o @ |
'Z' B qBT HIA Dl HAT Bl BH B adl
t 8 sag TEiead 99Er I el
21'X,'Y' T4 'Z' & qeE

X' Y VA
(1) FHEF-T=T CICz e M o )
AlaEs; Hlepzs
(2) FHEA-21B- T, FEIE T
AT,
(3) FHE-TN EERSICEHERSICAI ]
AlraEs;
4) FET-3- T St

G R G

Level-1/3101

[40]

125.

126.

127.

128.

Select the biotic component of an
ecosystem from the following :

(1) Chlorophyll
(2) Planktons
(3) Sunlight
(4) Soil

An example of conventional source of
energy is :

(1) Tidal Energy

(2) Geothermal Energy

(3) Solar Energy

(4) Nuclear Energy

Which of the following is not a
scavenger ?

(1) Mushroom
(3) Termite

(2) Vulture
(4) Earthworm

The incomplete combustion of firewood
in homes produce a poisonous gas 'X'.
When inhaled gas 'X' combines with
substance 'Y' present in blood and
reduces the capacity of blood to carry
gas 'Z' causing respiratory problems.
Identify X', 'Y'and "Z':

‘X‘ ‘Y‘ 'Z‘

(1) Carbon- Oxygen; Carbon-di-oxide
mono-oxide;

(2) Carbon-di-  Water;  Carbonic Acid
oxide;

(3) Carbon- Haemogl- Oxygen
mono-oxide; obin;

(4) Carbon-di-  Blood Oxygen
oxide; platelets;



129.

130.

131.

132.

IAIE % @G fRva &}
frefieg & @ ®H-91 79 Saed e
g7

(1) TERg
) 19 JdEd

(3) Wl T

(4) wHiifeq TFfi® ™ (CNG)

ME & g H gE wuE # o=
FITT

() 81 dgHed § S H1 S
7.8% 2|

(2) Y Hesq H TURYT AN ITH
s B

(3) STSIM e el s &%
Sferdior Mffa ear 21

(4) 39 99d™ Hsd §  F-Ta-
P B AET § ghs B © |

frefofeg & @ &9 T @ o
Qifteehdl Y & 95 & ?

(1) @M
) fegan
(3) %
(4) "=a

frefoifeg & @ &9 99 SaeX & FH
7&f e 7 7

(1) ST gui

(2) el THa

(3) AR Bl T HeA
(4) ST A

Level-1/3101

[41]

129.

130.

131.

132.

[A]

Which of the following gas is produced
by the

biomass ?

anaerobic fermentation of

(1) Biogas

(2) Gas Oil

(3) Natural Gas

(4) Compressed Natural Gas (CNG)

Select the correct statement about

ozone :

(1) The percentage of ozone in our
atmosphere is 7.8% .

(2) Tropospheric ozone 1is "good
ozone".
(3) Ozone absorbs ultraviolet rays and

form oxygen.

Ozone increases the amount of
chloro-fluoro-carbons in the
stratosphere.

“4)

Which of the following belong to more

than one trophic level ?
(1) Snake

(2) Grasshopper

(3) Planktons

(4) Man

Which of the following does not deplete
the water table at a place ?

(1) Scanty rainfall
(2) Increasing snowfall
(3) Increasing number of tube-wells

(4) Increasing deforestation

P.T.O.



[A] [42]

133. @9 B¢ 9 q99 Tl TR H F& 133. The correct sequence of shortest to
BT longest wavelength is :
(1) 39Y, T, BREREI (1) Visible, Infrared, Ultraviolet
(2) U, 99, STavE (2) Ultraviolet, Visible, Infrared
(3) STaYE, 399, qUTHI (3) Infrared, Visible, Ultraviolet
4 W@*Fﬁ, I, 37 (4) Ultraviolet, Infrared, Visible
134. "fpdl oRenfyq Afes caRafa § & 134. The ecological state of "being unique
faferse SuRRefe @ iRefae st to a defined geographic location" is
F FEd © known as :
(1) Gheaed (1) Endangered
(2) T (2) Pandemic
(3) Haw©A (3) Sustainable
@) TS (4) Endemic
135, frefafed & § $9-01 5 gamd A 135. Which of the following is not a water
78 7 borne disease ?
(1) & (1) Cholera
(2) TEWIEES (2) Typhoid
3) %ﬁ_ﬂg&_ﬁ (3) Hepatitis
(4) IR (4) Tuberculosis
136. FAGA § UE I aml q1g g 136. The metal found in Chlorophyll is :
(1) ity (1) Magnesium
(2) e (2) Cobalt
(3) drer (3) Iron
(4) e (4) Nickel

Level-1/3101



137.

138.

139.

140.

g9 g M H &9 7 SwiEdd drEH
% U qRG @R BN it JREhR
g

(1) Tl geER

(2) fexr T wHEReT qREER

(3) YAl &l fgHIE g

4) PrEesHl gwEpR

HEd gyl FEEer 91 (CPCB) &
AIER Remshl gl & fow e &
SO B

(1) 45 e
(2) 55 Sfea
(3) 75 SfHea
(4) 90 e

Jg R TE E ST Bad & fou
'A' T % FERN H IWENT FI 8
mﬁsgﬁ.aﬁmaﬂ%?ﬁwmﬁw ‘B’
[ FRed § &% od 21 'A' TG 'B'
T TedTy

(1) A > dldm B>
2) A >80 B—o&@
(3) A - Sl B — &
4) A >80 B-oH@

A T g9E fepeeh
gzrsﬁsrfw LERCCHICGE mﬂli:rd Brel
;

(1) argwvse &R T &
(2) agHUSH BRI ST iR @

(3) 9@ B YT fEn &
(4) agAYSH ERT G fafeel

Level-1/3101

[43]

137.

138.

139.

140.

[A]

The award instituted by the Government
of India for significant contribution in
the field of wildlife protection is :

(1) Gargi Puruskar

(2) Indira Gandhi Paryavaran Puruskar
(3) Amrita Devi Bishnoi Award

(4) Priyadarshini Award

According to the Central Pollution
Control Board (CPCB), what is the
upper limit of sound for residential
area ?

(1) 45 Decibels
(2) 55 Decibels
(3) 75 Decibels
(4) 90 Decibels

The 'A' coloured bins are used to dump
biodegradable solid waste while the
recyclable left-over are to be dumped in
'B' coloured bins. Identify 'A"' and 'B':

(I) A - Blue B — Green
2) A —» Green B — Black
(3) A —» Blue B — Black

4) A — Green B — Blue

The atmospheric green house effect is
produced mainly by the absorption and
re-emission of :

ey
2)

Visible light by the atmosphere

Infra-red  radiations by  the

atmosphere
3)
“)

Ultra-violet rays by the ground

Ultra-violet radiations by the

atmosphere

P.T.O.



[A]

141.

142.

143.

144.

U TER @ I Sed @ e weard
3

(1) @ S

(2) @ Jedh

(3) JF9R H ffs

(4) qftewar w)

JgUUT BN I BN Al I & T
T HIT

(1) Fe-hE-faem g fHemm

(2) I=F &AM (SRURCYM) U HEHd
(3) AUEE Ud FEIRERSR

(4) T vd g

7T I =TI IO
(1) RH aREEpEY Red - qieTs,
XA T FHATeH

(2) TR TEAEHET od - B

(3) T TEEnER Red - efifsan

(4) TBAI-IGT TERHET o -
ITEEA TS

TAT HAT =TI DI

(1) 9aX Udid @l 3fde TR 9remrel
e § s B 2|

Q) FET e R SO Ew
Sefoid BRa 8 4 1 AW T

(3) aIERoT Ud el UF & Uihdl &
for gt & o= 2 |

H TR Wl H HE A
(= & IW) & : Avwved, g9
WUSH, A WU, SF WUSA

“)

Level-1/3101

[44]

141.

142.

143.

144.

Complex interlinked food chains are
called :

(1) Food Web

(2) Food Network

(3) Pyramid of Biomass

(4) Trophic level

Select the set of disease caused by
pollution :

(1) Cat-cry-syndrome and Minamata
(2) Hypertension and Marasmus

(3) Marasmus and Kwashiorkor

(4) Minamata and Fluorosis

Select the incorrect pair :
(1) Nilgiri Biosphere Reserve — Tamil
Nadu, Kerala and Karnataka
(2) Nokrek Biosphere Reserve —
Mizoram
(3) Simlipal Biosphere Reserve —
Odisha
(4) Dehang-Debang Biosphere Reserve —
Arunachal Pradesh

Select the incorrect statement :

(1) Power petrol has a higher octane
number than ordinary petrol.

(2) Carbon footprint is a measure of
Green House Gas emissions by a
product.

(3) Reforestation and afforestation are
the two terms used for the same
process.

(4) The correct sequence of the four
layers of atmosphere is
Troposphere, Stratosphere,
Mesosphere and Ionosphere

(Bottom to Top).



145.

146.

147.

148.

1992 & RAr REX a9@d & ‘Toiel
21" T B

(1) gl faeE |

(2) YgWh HEd M H R |

(3) AT e 9@

(4) SAISIN TRA & &0 9

frefefad & @ @M R T2
e T 7

(1) A &<l W MEI A F5 < Y 2 |
(2) AL Pl Al T |

(3) uferdi & fery I W |

(4) omeR & fftr o @ |

IRAE a9 (deneE) et 2017 H
gell @ el H d e R WA
qre @

(1) T

(2) T

(3) &Y

(4) a4

fgea warerer fea| 2018 &1 o of :
(1) T & T 1 S

(2) AT A ISEA, TR T e
(3) W g bl qRIST Bl
(4) HEEYES ITFNT HL

Level-1/3101

[45]

145.

146.

147.

148.

[A]

The 'Agenda 21' of Rio Summit 1992

is related to :

(1) Sustainable Development
(2) Polluter-Pays Principle
(3) Environmental Education

(4) Preservation of Ozone Layer

Which of the following is not a 'green
good deed' ?

(1) Switch off ignition at red light.
(2) Burn the waste.
(3) Keep bird baths and bird feeders.

(4) Eat multigrain.

The plant excluded from the list of trees
in the Indian Forest (Amendment) Act

2017 is :

(1) Cane

(2) Sugar-Cane
(3) Date-Palm

(4) Bamboo

The theme for World Environment Day
2018 was :

(1) Connecting people to nature
(2) Raise your voice not the sea level
(3) Beat plastic pollution

(4) Consume with care

P.T.O.



[A]

149.

150.

IRA @1 A H B gE 8l W ad
o 09 & i @ B ?

(1) 9™
(2) =
(3) TS
(4) e
Pl 14 T U feadi o e I H &
T fakEl | Hifw AT

frifciad i &1 Herdl @ @& St @l
T IO

Ftad -1 Pt — 11
A. fagg S feaE (i) 5
B. JNM fea| (i) 22 B
C. faeg qamERer fKad (iii) 22 7§
D. SmisE Sa-fafagar e (iv) 22 99
E. gl fRaq (v) 16 =R
C7Ch

(1) A(v), B(v), C@1), DGi1), E(i1)
(2) A(Q), B(ii), C(i1), D(v), E(iv)
(3) Aii), B(iv), C(v), D(), E(ii)
4) A(v), B(i), C(ii), D(i1), E(iv)

[46]

149.

150.

The plant whose seed oil is being used

to coat urea is :
(1) Cotton

(2) Neem

(3) Castor

(4) Jojoba

Match the days given in Column I with
the dates given in Column II and
choose the correct answer using the
codes given below :

Column -1 Column - II
A. World Water Day (i) 5 June
B. Ozone Day (i) 22 April
C. World Environment (iii) 22 May
Day
D. International Day for (iv) 22 March
Biological Diversity
E. Earth Day (v) 16 September
Code :

(1) A@v), B(v), C(1), D(ii), E(i)
(2) A(), B(ii), C(i1), D(v), E(iv)
(3) Aii), B(iv), C(v), D(1), E(i)
4) A(v), B(1), C(i11), D(i1), E(1v)

Level-1/3101



6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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